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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this question paper.
2. Attempt all five questions.
3. Each questions carry equal marks.

4. Answers may be written either in English or Hindi; but the same medium should
be used throughout the paper.
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1. (a) Whois an ‘Assessee’ under the provisions of the Income Tax Act, 19617

(b) Mr. R, an Indian Citizen, left India on 22.09.2015 for the first time to work
as an officer for a company in Germany
Determine the residential status of Mr. R for the assessment year 2016-17

under the income tax Act, 1961

P.T.O.
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(¢) Mr. David, a citizen of India and a Government employee serving in the

Ministry of External Affairs, left India for the first time on 31.03.2015 due

to this transfer for The High Commission of India in Australia. He did not

visit India any time during the previous year 2015-2016. He has received

the following income for the Financial Year 2015-16:

S.No.| Particulars Rs.
(i) Salary 5,00,000
(i1) F.oreign Allowance 4,00,000
(i11) Interest on fixed deposit from bank in India 1,00,000
(iv) | Income from house property in Nepal, received there 2,50,000
(v) Income from Agriculture in Nepal, received there 1,00,000
(vi) Dividends from SKI Ltd., and Indian Company. 12,000
(vii) | Dividends from an Australian Company, received in Australia 20,000
Compute his gross total income for Assessment Year 2016-17. (3+3+5)

()

I T, 1961 D yEUH D Fad TR - iR T 27

(H)WW?FWWR,E%MW%WWWWW%Q

()

feaie 22.09.2015 F BH WR wrE Sk FW M

AR FUFTA 1961 & ITER N IR & Fary Rafy =1 Aufor sweT T8

2016 -17 ¥ )

T 2T, R AR vd fRw wem ¥ A Py Wl s, g e
faE 31032015 = s foran fRurm IR IR ¥ O R B R ROy
WRA Siga M1 e ad 2015 - 2016 ¥ 98 T W WR YR T8 01 AT a9

2015-16 ¥ I= fffes s uw &1 &
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wHHE faazm w

(1) e 5,00,000

(2) faew s 4,00,000

(3) W faa d @ waft o W = 1,00,000

(4) Aure feaw e wfa d 98 T I 2,50,000

(5) AU # HY & T8 T JW 1,00,000

(6) AR H g, ffis @ o e 12,000

(7) E ARforrd v @ 98 T A 20,000
T - FuRer af 2016-17 @ Rig I90 dFe T F@ F WRee Al

OR

(a) State three instances where the income of the previous year is assessable in
the previous year itself instead of the Assessment Year.

(b) Mr. Ramesh & Mr. Suresh are brothers and they earned the following income
during the financial year 2015-16. Mr. Ramesh settled in Canada in the year
1995 and has not visited India since. Mr. Suresh is settled in Delhi and has
never left India. Compute their total income for the assessment year 2016-17.

S. Ne. Particulars Mr. Ramesh | Mr. Suresh
| (Rs) (its)

1. |Interest on Canada Development Bonds (only 35,000 40,000

50% of interest received in India)
2. | Dividend from British company received in 28,000 20,000
London

3. | Profit from a business in Nagpur, but managed 1,00,000 1,40,000

directly from London

4. | Income from a business in Chennai 80,000 70,000

5. | Fees for technical services rendered in India, but 1,00,000 —

received in Canada

6. | Interest on savings bank deposit in SBI, Delhi 7,000 12,000

7. | Agricultural income from a land situated in 55,000 45,000

Andhra Pradesh
8. | Rent received in respect of house property at 1,00,000 60,000
Bhopal
9. Life insurance premium paid . 30,000
(3+8)
P.T.O.
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(F) V& O Jemswn Qg Rrd o af &t s o - i 9f @ =@ w o ad
¥ f w-fAuid an

(@) T BT & S g A W § AR IR fiwim o 2015-16 @ R
f=foiaa sma afsta & s @ a9 1995 N Frer ¥ @9 7Y w6 9@ ¥ WRa
T8 M F1 S P Rl ¥ 9@ W F AR 0 o wRa A G 6 W -
fefcor af 206-17 & fow IR | F@ T Reve A

wAiw | faawe Hae @An | e g
L2 %

. FHAET AW T3 W I J (WRA A 35,000 40000
Fad 50°0 = T far W)

2 e § B%m = @ v wnam 28,000 20,000

3 TR ¥ fad g e WA dew A 1,00,000 1,40,000

a. I=¢ o =R } T Im 80,000 70,000

5. Tl 4R B g wE ¥ e ) 100,000 | ...
W fE] FE R T T

6. WA ®T d, et & F s ot 7@ 7,000 12,000
99 6 W I =

7. Py wew A Rum o @ o R Imn 55,000 45,000

8. Ao R waw wafer /@ wa faaan 1,00,000 60,000

9. e S N @ e R om0 30,000
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2. Mabhesh is a Finance Executive at X Ltd. His Income details are as follows:

Basic salary

Rs. 3,00,000 per month

Deamness allowance (forming part of salary)

30% of basic salary

Transport allowance (for commuting between place of residence
and office)

Rs. 3,600 per month

Motor car running and maintenancc charges fully paid by
employer

(The motor car is owned and driven by Mahesh. The engine cubic
capacity of car is below 1.60 litres. The motor car is used both for
official and personal purpose by Mahesh)

Rs. 40,000

Rent Free Fumisked Accommodztion provided by the employer in
Dethi.

¢ Cost of fumiture

* Two Air conditioners taken o2 hire by the employer

of ezch air conditioner is Rs. 2,009 per 2nanum

and installed in the eccommodetion. Hire Charges :

1,069,639

dutics met by the employer

Expenditure o1 cceommodation in hotels while touring on official Rs 30,6C0

J

Computer (cost Rs. 50,000) provided by the employer to ’vlahesh -

from 1.10.2015
Interest on saving bark eccovnt with PNB Rs. 8,000
Inerest on post office saving bank Rs. 5,000
Mahesh made the following payments:
Tuition fee paid for 2 children studying post- Rs. 1,60,000
graduation courses at Madras University
He donated Rs. 50,000/- to government for
promoting families planning
Medical Insurance premium paid:
by cash ‘ Rs. 5,000
by cheque Rs. 22,000

From the above, compute his total income for the Assessment Year 2016-17.

(11)

Ry X fofies =t ¥ facg sl €1 39 Ja @ Qe 9 9aR #:

PTO.
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A AT

3,00,000 % 93 e

FEIE el (I D WA R T A)

I 77 = 30%

IRee W (Frama = o w2 @9 - T @ Rig
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1,00,000 %

N Fedl & Fiduw g N w3 o Do ¥ s
T W R v = = @ e B aw
fean smr &1

30000 %

i g e A Bare 102015 A T
(@ = 50,000) 3T Fo@ T B

T AT 9% ¥ 999 @ W A

8,000 %

W Jifhe Taw @R WS

5,000 &

TR ¥ AR e R

Fore fargafare ¥ W waEE ¥ serawe @ v @
freror e =1 e R

1,660,000 %

367 TRar A A YRy =@ I WE A T
50,000 / - @ fu)

fifeean i & w1 s R
LE T
UE T

5,000 %
22,000 ®
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ITgE faam & R W, #R - Fufor af 2016-17 & e I w9 9@ =1 WReae
g

OR

Mr. Garg, an employee of PQR Co. Ltd. at Chennai and covered by Payment of
Gratuity Act, 1972, retries at the age of 63 years on 31-12-2015 after completing
34 years and 7 months of service. At the time of retirement, he is entitled for
monthly pension of Rs. 40,000. He gets 80% of pension commuted for Rs.
9,00,000 on 1st February, 2016. His employer also pays Rs. 20,51,640 as
Gratuity and Rs. 6,00,000 as accumulated balance of Recognized Provident fund.
Determine the salary chargeable to tax for Mr. Garg for the Assessment Year
2016-17 with the help of following information.

Rs.
Basic Salary (Rs. 80,000 x 9) 7,20,000
Bonus 72,000

Employer contribution towards Recognized Provident Fund | 1,10,000

Rent paid by Mr. Garg (Rs. 12,000 x 12) 1,44,000
House Rent Allowance (Rs. 20,000 x 9) 1,80,000
Professional Tax paid by Mr. Garg 5,000

Note : Salary and Persion falls due on the last day of each month. (11)

S W, ¥ Faa @ IR Jram afuiam, 1972 B sReRd GE AR
fofide @ =@ R 31-12-201 M IT R 34 W F 7 WA R =@ 63 T§ A
g ¥ JAHg B ¥ RAfAgicd S W@ T8 T 40,000 Fi WS YT & it F
IF 1 Wad, 2016 N T 9,00,000 F forg ariviga I T 80% R YN FRd ¥l IAH
fadtern Iqem & ¥ A & 20,51,640 TF W T Wi R @ eRm R WA ®
6,00,000 &I ¥t A el 81 Ffolad 9o & R W - Fraior ad 2016 -17
3G M W & fog R gwR 3aw @ o i

PTO.
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T
A 999 (T 80,000 X 9) 7,20,000
" | 72,000

A T sfsr A 3 e @ anem 1,10,000
[ W g s e R (312,000 x 12) 1,44,C00
™ foRuar W (T 20,000 X 9) 1,80,6C0
S W gR e e T seaReE o) 5,000

fewofl: 7 @ ITw AT WA @ Fw R w27 ¥

3. Dr. Chandha is runring a clinic. Compute his total income for the A.Y. 2016-17.

His Income and Expenditure account for the year ending 31st March, 2016 is
given below:

% oo, L. Y-l [

To Staff Sclesy 4,30,CS0 | By Fees Reccipts 12,63,600

To Consumzblcs 3,0 By ZDividend from Izfi=a| 15,0630
Compenies

To Medicine consymzd 3,69,6C0 | By Wirning from Loterics (Nct| 28,639
of TDS of Re.12,£20)

To Dzpreciction | 91,620

To Administretive Expooess 1,51,€20

To Donstion to Prime 5,620

Minister's Natfonal Refief

Fund

To Excess of Imcozs over| 2,51,009.

expenditure

Tea 305200 Rovpli jctignYoon)

Other Information:

(1) Medicines consumed include medicine of (cost) Rs. 25,000 used for his
family.

(i) Fees receipts include Rs. 20,000 honorarium for valuing medical examination
answer books.

(i) He received Rs. 8,000 per month as salary from a City Care Centre. This

has not been included in the ‘Fees Receipt’ credited to Income and
Expenditure Account.
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(iv) He has paid prémium of Rs. 45,000 for a LIC Policy on his life, which was
taken on 1.08.2013 (sum assured Rs. 4,00,000).

(v) His has paid Rs. 4,000 for purchase of lottery tickets, which has not been
debited to Income and Expenditure account.

(vi) Depreciation in respect of all assets has been ascertained at Rs. 50,000 as
per Income-tax Rules, 1962

(vil) He deposited Rs. 1,50,000 in PPF.

(viii) Donation of Prime Minister National Relief Fund has been made by way of
crossed cheque. (11)

. e U e e @ €1 - Pl ad 2016 - 7 @ B IR #5731 Rae HRm)
319, 2016 F TS O T 78 §F 39 309 O =9 W AR R ww v,

=g ®. I T
A @ 399 & e 4,30,000 e i 12,63,000
Irisa R @ 8,000 qAEE TG d T 15,000
T @ B

Iosi i T TR« R 3,69,800 w28 SAe v @ 28,000
o (Ras afma. ®
12,000 )

TeasE @ fore 91,000

T =@ @ WY 151,000

JUHHA T BT A T 5,000

= & B

=g H e A FfoR 2,51,800

I & fow

wA 13,06,600 | &A 13 ,06,600

F AFH:

(i) Inim A TR @ ¥ I GRaR b oY Iwam A T % 25,000 () H 7@
Rsfer )

(i) o @ ¥ Rifrear wden I RawA & FeAET FA S T T 20,000 F
weg g 2

PTO.
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(iii) T REA Ha FeX A 98 90 AE I9T D WA % 8,000 T FQR ¥ W A 3N
oG @ ¥ B St W gew We’ ¥ afwfe w8 R w2
(iv) 3781 39 Sia W AR e ®a Bamr (LIC) =6t uas wiferdl & f3rw & 45,000

& i 1 s R 21 5@ e (S T ® 4,00,000) FY 108.2013 T
forar wman am

(v) 3% el fewdl &t wle @ forw © 4,000 =1 wam fean 2, R s sk =
@ # M T e @

(vi) st fam, 1962 & FgEr, oft el & wau ¥ a=aeT¥ 5 50,000 FefRe
foar T 2

(vii) 37 1,50,000 TdT e Wl R (PPF) ¥ v& &av)
(viiii ) TR TGN TEw wT D g YERed ¥ D wew ¥ T Rar @ )

OR

(a) During the previous year 2105-16, Renu sells the following capital assets:

Sale Price (Rs.) Expenses on Transfer
Land 50,00,000 1%
Gold 51,00,000 Nil
Listed debentures 8,00,000 1%

Renu inherited the Larnd from her father who died in 2004-05. Father acquired

the land on 1.1.1980 for Rs. 50,000 and its fair marxet value on 1.4.1981
was Rs. 2,00,000. Renu spent Rs. 1,00,600 on the boundary wall of the
land in the previous year 2007-08.

Gold was purchased on 22.03.2014 for Rs. 48,60,000 and listed debentures
were purchased on 17.03.2010 for Rs. 3,40,000. She invested the entire
sale proceeds of gold and listed debentures in the bonds of NHAI (Tenure
5 years) within 6 months from the date of transfer. She purchased a residential
house property for Rs. 48,00,000 out of the sales proceeds of land on
31.03.2016. Cost inflation index:
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1981-82 100
2004-05 480
2007-08 551
2008-09 582
2009-10 632
2014-15 1024
2015-16 1081

Compute Renu’s total income and tax liability for the assessment year 2016-17.

(1)
(%) e af 2105-16 & W, ) PrfeRaa gl sl @ 3o 2

fawa 7 (%) S W g o
R 50,00,000 1%
¥} 51,00,000 ™™
Faag Raw 8,00,000 1%

W R A e ¥ e ¥ TR B, R 2004-05 ¥ JRg B T R X
111980 & & 50,000 ¥ % U B TE 1.4.1981 N THH IR TR I T 2,00,000
N el 7 2007 - 08 X 1] F o B TRANY = Pitor =T B Biw ® 1,00,000 =TT FEw)

AT 22032014 T T 48,60,000 ¥ @I TN A AR ThEE RAW 17.03.2010 W ®
3,40,000 # @A MY A1 IEF A 3R Fhwe NI & wql R sm A s v
& frw } ¢ W @ im IR o aeenl s ((NHAL @
FueR (5 9§ N aftr) ¥ FEw W Ran w9 N KA I A 3T 31032006 F ®
48,00,000 % FEEE 7 wFfRT @O

AT PERRIY gl
1981- 82 100
2004 -05 480
2007 - 08 551
2008 - 09 582
2009 - 10 632
2014-.15 1024
2015-16 108

PTO.

T ——
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- Fufor ad 2016-17 & fow W & w5 9 sk R T = wRee S

4. (a) Explain the provisions of the Income Tax Act, 1961, with regards to clubbing
of income of souse under Section 64,

(b) Explain the provisions relating to set-off and carry forward of business losses.

(c) Mr. Ankit submits the following information regarding his income for the
previous year 2015-16:

Rs.
Gross salary per annum 8,26,000
Cash gift from his employer 30,000
Gift from father’s brother 60,000
Agriculture Income 3,60,000
National Saving Certificates (NSC) purchased on 25.3.2016( 20,000

Compute his taxable income and tax liability for the assessment year 2016-17.
(3+3+95)

(F) U0 64 & FFT R T TEN AN IT D TN D FSU A IR FAAA, 1961
F UEUE Y TR AR

(@) =R el it Reer @ 73 @ 99 2 gay A 99im weum & =rem SR
(1) AW iR Red a5 2005-16 @ foR o s @ w5y A Pfafes aReD

TEd T
13
W ad "ol I 8,26,000
e PR § T IR 30,000
fiar = Wi ¥ SRR 60,000
AL o 3,60,000
25.3.2016 Tl %Y &A1 T T TR WA (NSC) 20,000

- fulor af 2016-17 @ v 390 F@E- s FR Fw- 299 T IReeT Fifom

OR
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Mr. A has gifted a house property valued at Rs. 50 lakhs to his wife, Mrs.
B, who in turn has gifted the same to Mrs. C, their daughter-in-law. The
house was let out at Rs. 50,000 per month throughout the year, Compute
total income of Mr. A., Mrs. B and Mrs. C by assuming that their income
from other sources is Rs. 5,60,000, Rs. 6,00,000 and Rs. 7,00,000
respectively.

Mr. Manick is a Sales-tax officer at Jaipur. He owns two residential houses.
The first house is in Delhi and was constructed on 31.12.1991. This has
been let out on a rent of Rs. 30,000 p.m. to a company for its office. The
second house is in Jaipur, which was constructed on 1.3.2015 and has been
occupied by him for his own residence since then. He took a loan of
Rs.9,00,000 on 1.8.2013 @ 8% per annum interest for the purpose of
construction of this house. The entire loan is outstanding.

Other Relevant particulars in respect of these houses are given below:

Ist House 2nd House
Rs. Rs.
Municipal valuation 2,40,000 1,880,000
Municipal taxes 10% of Municipal value| 8% of municipal value
Expenses on repairs | 20,000 60,000
Interest on Loan - 72,000.

Municipal Taxes of Jaipur house is unpaid.

Mr. Manick was transferred to Mumbai on 1.12.2015 where he resides in
a house at a monthly rent of Rs. 40,000, and his house at Jaipur was let out
on the same day on a rent of Rs. 20,000 per month.

Compute the “income from house property” in respect of Mr. Manick for the
assessment year 2016-17. (3+8)

(&) T A ¥ T 50 dE TG A WaT-Fafd AT TR, SR B, @ IWER A A 2,

o oot ¥ 3/ AR gy WA C At IBR A ¢ Rar 21 77 vaT af W T
50,000 WY A€ W e o far wan o, 3=y Qe ¥ I W I € 5,60,000,
¥ 6,00,000 3R & 7,00,000 AA Y S A, SR B @R At C it |ma Jw
& IR e

PTO.
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(@) s i s A el o S 21 98 @ srarlig wa @ @R #) ueen e
foeeht A 2 3k Iua FAwfor 3112.1991 H forar T @ 2@ TE TR H FE FEeR
& forg = 30,000 wfs wE & AW W 2 Rar w2 gE waT JAg A 2, o
fior 132015 & forar Tar @1 AR 79 ¥ I WA R IO FEm &g I Fea
2l @ waT & Few & fow 182013 & IR 8% W T W W W W &
9,00,000 T T forami QU HOT w21

T WEHl o 99U A I e e AR Ry &

Tl HTT TEU HEh
T T
TR I & e | 2,40,000 1,80,000
TR A TR A AT A 10% | WR A e 1 8%
A W =g 20,000 60,000
U W = 72,000

WA fud wem & R Fem & & e 38 R )

112.2015 ! ST Aiien 1 &g TAWIaRd fRar T o1 J&t 98 40,000 ¥ AfAE fHw
R U&F AFF A B 2, 0 3@ 9 JaR Rua 3@ swa= &t 20,000 ¥ R AE e
W I fear man am

ST WA & g9y A - Fufor af 2016-17 & e swia wufa ¥ s &1 wRaa
i

5. XandY are two partners, sharing profits and losses in the ratio of 1:2. The firm
is in the business of manufacturing paints. The profit and loss account of the firm

for the year ending 31.03.2016 is as follows:

o, 1 Bs

Salary to staff 2,18,8¢9 | Gross Profit ©12,60,000
Depreciation 1,80,000 Loag-Term capital nzin ' 1,40,CC0
Remuneration of partners: Other business receipts 1,60,000
X 3,00,000
Y 2,60,000
Interest on capital:
X 36,000
Y 25200
Other expenses 3,70,000
Net profit 1,10,000

15,093,030 15,039,230
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Additional Information:
(i) The firm completed all legal formalities to get the status of ‘firm’.

(i) The firm donated Rs. 80,000 to notified public charitable trust, which is
included in other expenses.

(i) Salary and interest @ 12% p.a. are paid to partners as per the partnership
deed’. '

(iv) Depreciation allowable under section 32 is Rs. 80,000.

Compute the taxable income of the firm and partners for the assessment year
2016-17. (11)

XY, 1:2 2 Siuma & o S wrer amen e A 3w #) & ¥z i @ emw
A 21 31032016 B T B G a§ @ 0 T @1 o 3R BT @ T TR 2

T, T

FHAIRGA T I 2,18,800 | o N 12,00,000
LB 1,80,000 Srafafenes Tonr 1,40,000
LEGNICIR T T D I MR grfeaar 1,60,000
X 3,00,000 |
Y 2,60,000
Tl W =
X 36,000
Y 25,200
I g 3,70,000
€ A 1,10,000

15,00,000 15,00,000
SR S

(i) ‘W & Rafy wra T & g W T ol Rt steaReae oof < #)

(i) i ¥ Ftmim adafE oA g B T 80,000 T R ¥, AR s =@l &
Figeta afafor e man 21

PTO.
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(iii) R W ‘wfar- e’ B R IaT AR 12% wia 9§ i R A A B
foran s 21

(iv) aRT 32 B Fad WEd I98E & 80,000 R

T - fAuion ad 2016 -17 & o0 w3 9 9EER’ Y SR -qvE I w1 uRae Fif

OR
(a) Write short notes on any two of the following:

(i) Difference between “tax treatment of education allowance’ and
‘education facility’ under the Income Tax Act, 1961

(i) Expenditure on scientific research (Section 35)

(i) Exemption of Long Term Capital Gains under Section 54 of Income
Tax Act, 1961

(iv) Deduction under Section 80DD of Income Tax Act 1961, in respect
of medical treatment of disabled dependent.

(b) Explain the significance of the judgment delivered by The Supreme Court of
India in the case of “Shiela Kaushish vs. CIT (1981)” (3+3+5)

(&) Fefefaa & @ &6 & @ w wfera fewftrr fafe:

(i) smaa s, 1961 @ et ‘e v @ o ko’ 3k frer gl @
q AR T

(i) I FTEUT W = (URT 35)
(iii) mER FffEw, 1961 & U 54 & Fada SerEt IO W X e

(iv) 3ma = e, 1961 & arr 80DD & Fiaea faswenat snfim & fiferew Jw=mw
@ gy A Hek

(@) fien Fw W AT FEF (1981) a8 A R P galew EeE g7 Re 1Y
fola & e & =men Ffw

(8200)
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